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Note .— The question paper is divided into two Sections
A and B. Section—A contains 6 Very Short Answer
Type Questions. Examinees have to attempt all
questions. Each question is of 1 mark and
maximum word limit may be thirty words.
Section-B contains 8 Short Answer Type
Questions. Examinees will have to answer any four
questions. Each question is of 10 marks.

Examinees have to delimit each answer in
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maximum 200 words. Use of non-programmable
scientific calculator is allowed in this paper.
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Section-A 6x1=6
(@ues—3)
Very Short Answer Type Questions
(atfar o SET W)
Write mathematical definition of conic

section.
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(ii)) Find the equation of sphere whose radius is
r, centre lies on x-axis and passes through
origin.

el 1 THEIO F Sitey, @t 5= r, &5
¥ WA IR gA fog | oRar A

(ii1) Define enveloping cone.
ST i, 1 aRwya i |

(iv) Define central conicoid.
G, SMieherst sl gRIfe wifsa

(v) Define optimal solution of linear
programming problem.

feer UM TS % Sad Bl Skl e
HIfT |

(vi) Define non-degenerated basis feasible

solution.
IV U GETA T Sl GRWIGA IS |
Section-B 4x10=40
(TUS—7)
Short Answer Type Questions
(g T q99)

. Prove that a general equation of second degree
always represents a conic.
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3. A sphere whose centre is in positive octant, is

passes through origin and whose intersection from
planes x = 0, y = 0, z = 0 are g/2,642,c\2
respectively. Find the equation of plane.
T en foE d e el d O3, g fag @
TRl € 3R wHaeh x = 0, y = 0, z = 0 ¥ TH®H
TR FRI: g4/2,b+/2,c+/2 T et 99 €1 g5
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4. If two spheres of radii r; and r, cuts orthogonally

each other, then prove that radius of their
nn

common circle is 2 2.
n +V2
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5. Find the equation of the tangent plane at a point
of the central conicoid.
Th=s hasl & e fog W ol 9@ & wHie
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6. Find the equation of such intersection of central

conicoid Ax? + By? + Cz2 = 1 whose centre is
(a, B, ).

Yo FMhast Ax? + By? + C22 = 1 & TH 4i=sg &1
THFO Fa Hitee e &5 g (o, B, y) W I

. Old hens can be purchased at the rate of Rs. 2 per
hen and young hen at the rate of Rs. 5 per hen.
Each old hen lays three eggs in a week and the
young hen lays five eggs in a week. The value of
each egg is 30 paise. It costs Re. 1 to feed a hen in
a week, only Rs. 80 is available for purchasing
chickens, there is no place to keep more than
20 chickens at a time. Formulate the linear
programming problem and solve this problem with
graphical method and find out how many hens to
buy for maximum profit per week.
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8. Find the dual problem of the following linear

programming problem :

Maximize
Zp = 3x; + 4x,
S.t.
X+t x4
—xy + 3%y > 4
and Xy, X 20

=1 Yeer JUmE 99 & GG g4l SS9 HIT
Afererayq

Zp = 3x; + 4x,
EIRERS)

X+t x4

—xy + 3%y > 4

3R Xq, Xy > 0

. Solve the assignment problem :

People
I 111
A 9 26 15
Work B 13 27 6
C 35 20 15
D 18 30 20
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